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Question Id : 68634010739 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634010740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bfadl BT TG ANPR B-
1. 01 GHT ST
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Options :

68634042401. 1
68634042402. 2
68634042403. 3
68634042404. 4
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Question Number : 2 Question Id : 68634010741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042405. 1

68634042406. 2

68634042407. 3
68634042408. 4



Question Number : 3 Question Id : 68634010742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042409. 1
68634042410. 2
68634042411. 3
68634042412. 4

Question Number : 4 Question Id : 68634010743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042413. 1
68634042414. 2
68634042415. 3
68634042416. 4

Question Number : 5 Question Id : 68634010744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042417. 1
68634042418. 2
68634042419. 3
68634042420. 4

Question Id : 68634010739 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634010740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hiadl B THNIG HUDPR ©-
1. 41 §OTSl §9H1
2. U &1 Y0l gHI
3. Sila &1 e FHAI
4. 5 A DI Tl
Options :

68634042401. 1
68634042402. 2



68634042403. 3
68634042404. 4

Question Number : 2 Question Id : 68634010741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A fagH #1
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Options :

68634042405. 1
68634042406. 2
68634042407. 3
68634042408. 4

Question Number : 3 Question Id : 68634010742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IS gqa- & d1d i Tel 36l 2
1. afg gl Bl gia
2. i ¥ § HiedPdR I5d dl
3. gfe e S 1 Y0 gIaT al
4, 3R] DI T Hel gl dl

Options :

68634042409. 1
68634042410. 2
68634042411. 3
68634042412. 4

Question Number : 4 Question Id : 68634010743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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.C,A.B.D.E
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Options :

68634042413. 1
68634042414. 2
68634042415. 3
68634042416. 4

Question Number : 5 Question Id : 68634010744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

T O & 994 9 PR [GER W & S fbuem §-

1. aTcH i
2. gorafd
3.Rq
4. HI]

Options :

68634042417. 1

68634042418.2

68634042419. 3
68634042420. 4

Sub-Section Number : 2
Sub-Section Id : 686340358
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634010745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el wes A wH- 9 &-
1. U i

2. U
3. 3Tie gy
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Options :

68634042421. 1
68634042422, 2
68634042423. 3
68634042424. 4

Question Number : 6 Question Id : 68634010745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HelN ¥eg § oi-4l 9 §-
1. U i

2. TR
3. 3mfe i

4. gfg af=

Options :

68634042421. 1
68634042422, 2
68634042423. 3
68634042424, 4

Question Number : 7 Question Id : 68634010746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042425. 1
68634042426. 2
68634042427. 3
68634042428. 4

Question Number : 7 Question Id : 68634010746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042425. 1
68634042426. 2
68634042427. 3



68634042428. 4

Question Number : 8 Question Id : 68634010747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042429. 1

68634042430. 2

68634042431. 3
68634042432. 4

Question Number : 8 Question Id : 68634010747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042429. 1

68634042430. 2

68634042431. 3
68634042432. 4

Question Number : 9 Question Id : 68634010748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042433. 1
68634042434, 2
68634042435. 3
68634042436. 4

Question Number : 9 Question Id : 68634010748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
agsiie T &1 9e T &
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4. HIgR
Options :
68634042433. 1
68634042434, 2

68634042435. 3
68634042436. 4

Question Number : 10 Question Id : 68634010749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o SR T A 3 A SR @l g1 § SeeR B
1. gH®
2. XY
3. AN
4. It

Options :



68634042437. 1
68634042438. 2
68634042439. 3
68634042440. 4

Question Number : 10 Question Id : 68634010749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SR @ § e R A g1 H e g
1. JH$

2. %oy

3. SU
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Options :

68634042437. 1
68634042438. 2
68634042439. 3
68634042440. 4

Question Number : 11 Question Id : 68634010750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042441. 1
68634042442 2
68634042443. 3
68634042444. 4

Question Number : 11 Question Id : 68634010750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



M3 H o A AR <416 TR H BT IH G AR BT G1-[T8T U 7% arides aul 29 U 8%
At o= A fdman | oF av o 399 21320 9191 & 30 1 Sfoiq [0 | 3% gRI1 Hald iy (@ ) 1
DIyl

1. 4000

| o

. 5000
3. 6000
4. 6400
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68634042441. 1
68634042442 2
68634042443. 3
68634042444 4

Question Number : 12 Question Id : 68634010751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U [N GHHER 2600k TYUT 2650/kg Hed dlcll 910 Uil ol food 3Jurd & e fes 53 oy o1
7682/kg S TR 3Y 10% ATH BI?

1:3:2

[ ]
%]
E=

Lag
Lad
L

4. 4:

L

Options :

68634042445. 1
68634042446. 2
68634042447. 3
68634042448. 4

Question Number : 12 Question Id : 68634010751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042445. 1
68634042446. 2
68634042447. 3
68634042448. 4

Question Number : 13 Question Id : 68634010752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042449.
68634042450.
68634042451.
68634042452.
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Question Number : 13 Question Id : 68634010752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634042450. 2
68634042451. 3
68634042452. 4

Question Number : 14 Question Id : 68634010753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042453. 1
68634042454. 2
68634042455. 3
68634042456. 4

Question Number : 14 Question Id : 68634010753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634042453. 1
68634042454. 2
68634042455. 3
68634042456. 4
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Question Number : 15 Question Id : 68634010754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042457. 1
68634042458. 2
68634042459. 3
68634042460. 4

Question Number : 15 Question Id : 68634010754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

SRE MEH! ol B 1 8 & H @ wavd § auT 16 %l I3t s 1 12 37 § 3 gl €1 218
STEET 3R s a5 6 137 T U A1y o1 {611 I8 S8 & US 137 0% G- H3A & o 3R fba-
STl B HTH R @ B AaeaHdl 82

1.8

[
WO

4. 15

Options :

68634042457. 1
68634042458. 2
68634042459. 3
68634042460. 4

Question Number : 16 Question Id : 68634010755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042461. 1
68634042462. 2
68634042463. 3
68634042464. 4

Question Number : 16 Question Id : 68634010755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042461. 1
68634042462. 2
68634042463. 3
68634042464. 4

Question Number : 17 Question Id : 68634010756 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042465. 1
68634042466. 2
68634042467. 3
68634042468. 4

Question Number : 17 Question Id : 68634010756 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634042465. 1
68634042466. 2
68634042467. 3
68634042468. 4

Question Number : 18 Question Id : 68634010757 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ABIUABFITHE. C.ADI IS SR D. B BT 51 D, C I b THR J&idd &7
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Options :

68634042469. 1
68634042470. 2
68634042471. 3
68634042472. 4

Question Number : 18 Question Id : 68634010757 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042469. 1
68634042470. 2
68634042471. 3
68634042472. 4

Question Number : 19 Question Id : 68634010758 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042473. 1
68634042474. 2
68634042475. 3
68634042476. 4

Question Number : 19 Question Id : 68634010758 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042473. 1
68634042474 2
68634042475. 3
68634042476. 4

Question Number : 20 Question Id : 68634010759 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042477. 1
68634042478. 2
68634042479. 3
68634042480. 4

Question Number : 20 Question Id : 68634010759 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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. Q5P JRIIT &
1. Y faendl g&ie o Wil godi g
1. 3¢ Fad 1 safed §
2. 1fe Sad 11 aied &
3. Fd LA n A B
4. 9fE 1 SR 1 T sratiea @

Options :

68634042477. 1
68634042478. 2
68634042479. 3
68634042480. 4




Question Number : 21 Question Id : 68634010760 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 9=t 11 9 e Sifey
veitsnickicee G R TGIEED)

A TG I [[&i¥cEe @H

B. FreTs 11 Rig=i®T

C. AR 111 [315ig 3l @

D. [dadl IV. [<Tehe 5

fAafaRad faeedi O I Ugt SR &1 99 SIfor

1. A-IV. B-1. C-II, D-III
2. A-IL B-1. C-IV. D-II
3. A-III, B-1, C-II, DIV
4. A-1, B-I1I, C-II. D-IV

Options :

68634042481. 1
68634042482. 2
68634042483. 3
68634042484. 4

Question Number : 21 Question Id : 68634010760 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg

= 1 (S g g9 1 (@1e®)
A [g 1. |[[Rf e B e
B. [preas 11. Rfa=idy

C. [Rar 111 [35%Te 3l @
D. [d9dl IV. [T1ieh g4

frafafad foweal & O ugt SR 1 9ga oifo
1. A-IV, B-I, C-II. D-III
2. A-IIL, B-L, C-IV, D-II
3. A-III, B-I, C-II, DIV
4. A-I, B-III, C-II, D-IV
Options :

68634042481. 1
68634042482. 2



68634042483. 3
68634042484. 4

Question Number : 22 Question Id : 68634010761 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T g pyafRumu E:

BYUA 1 ERIP B B & Sid I aTel BEel Bl o/ Sals & A H § Sl § SR Rday
SfeER & Hig H PIeT Sl g

HYA 11 715, Hex, 91, fod e BHa & 3aE Gl
IWRIdd HYHI D HalP U, Hid (4T T fadbedi § T Ig! 30 B 904 Bl

1. BYUF T AR 11 S Tl &
2. BYT1 IR 11 S TTed §
3. DY TG 6. Al HYF 117 ©
4. BT 17T ©, AT S 1 TET §

Options :

68634042485. 1
68634042486. 2
68634042487. 3
68634042488. 4

Question Number : 22 Question Id : 68634010761 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CIERAR G E) [

BYUA 1 ERIP B B & Sid I aTel BEel Bl o/ Sals & A H § Sl § SR Rday
3faER & Hig- H BT S 5 |

HU I1: 71§, TeR, T4 G e B9a & Saev ¢l
IR PYUHI P 3 B, i f4U U fg el O I Ie! 3w 1 994 I

1. BYUF T AR 11 S Tl &
2. BYA T IR G Ted &
3. DY TG 6. Al HYF 117 ©
4. DY 1T107d 5. A= DY 1T Hel §

Options :

68634042485. 1
68634042486. 2
68634042487. 3
68634042488. 4

Question Number : 23 Question Id : 68634010762 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CI KA AICRTALE) [F

HYT I: TURT T8 X & ford IR YReig Rord 6 (sRatems) wfiaufa & a5 do1 &1 ag- smafie ga1
(39T SUYR el B

HYU 11: Ra¥ YURE 94d 100 99 (3MYUTR) fdg WX 31e1d 811 § & YURE 9 1% $H 8idl 8|
IWRIGd DU P e 0, - 3T U [d@ el O I I8! ) &1 994 SHIIg:

1. BYUF T AR 11 S Tl &
2. B 1 AR I 1 Tad §
3. DY TG 6. Al HYF 117 ©
4. BYF 17T0d &, Al HU I 981 &

Options :

68634042489. 1
68634042490. 2
68634042491. 3
68634042492. 4



Question Number : 23 Question Id : 68634010762 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 Py RTTUE:

HYT I TIRE T8 o & o IR YRel1g Reid 89 (3mRaisons) niaufa & aed d@1 o1 Y- 3mafies ga1
(FTT) FYUR i ¢

B 11: Ra¥ YURE H4d 100 &9 (3MYR) [dg UR SM1eNd Sidl § &l JURE 9 1% &8 gidl ¢
JURIad DYl & et |, i 4T U [ddhedl 9 98! SR &1 999 DIl

1. B AR IS 981§
2. BYT 1 R 11 S TTed &
3. YT TG §. b HYA 11 7T0d ©
4. TYT 17T &, AT B 1 T §

Options :

68634042489. 1
68634042490. 2
68634042491. 3
68634042492. 4

Question Number : 24 Question Id : 68634010763 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR HGUH BT D41 w58 ald Haiad 8 Jul ARG ! B FHH Sa¥R Uad Hdl g7
1. =g 22

TS 16

3. 3G 20

4. AT=e
Options :
68634042493. 1
68634042494 2

68634042495. 3
68634042496. 4

| )

| )
Lh

Question Number : 24 Question Id : 68634010763 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR AU BT B1H-41 sgw5g ald A § 91l ARIRS! B GHH SaeR Yad odl 87
1. =g 22

TS 16

3. T4 20

4, 34
Options :
68634042493, 1
68634042494. 2

68634042495. 3
68634042496. 4

| )

[ )
Lh

Question Number : 25 Question Id : 68634010764 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg

T 1 = 11

TR Ew |G e R o & wge aw)
EEEEIE I [3ccig

ABEL 11. [fg- ®ihd o

RELEEE 1L [§cHIPR o

Sfafdgddl EFaus)| IV, [3fgdd g

fFafaRad fadedl & 9 981 3t &1 99+ Hifulu

1. A-III. B-I. C-II. D-IV

Olo|w]*=

2. AL B-IV. C-1II. D-III
3. A-IV. B-1. C-1II. D-II
4. A-IV. B-I. C-1II, D-III

Options :

68634042497. 1
68634042498. 2
68634042499. 3
68634042500. 4

Question Number : 25 Question Id : 68634010764 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

A1 I

(ARPR @Y (@Y B ¥ $ H wge @)
[REEEE T EEEESE

HEEE 11. [z ®ied au

RELEEE 11 [SeIdR o

. |sfafdgadr gipdumy V. [srada g

Fafaiad f[deedl § O Uel 3R & 944 DI

1. A-III, B-1. C-II. D-IV

ofow]>

2. A-1. B-TV. C-I1. D-TII
3. A-IV. B-1. C-I11. D-II
4. A-TV. B-1. C-I1. D-III

Options :

68634042497. 1

68634042498. 2

68634042499. 3
68634042500. 4

Part B: M Ed

Section Id : 686340214
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340359
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634010765 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



NCTE stands for.

1. National Council for Teacher Education

2

. National Council for Technical Education
3. National Comumittee for Teacher Education

4, National Committee for Technical Education

Options :

68634042501. 1
68634042502. 2
68634042503. 3
68634042504. 4

Question Number : 26 Question Id : 68634010765 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NCTE &1 G31 -TTH &1 §RTT |

1. A SR BR SR T

2. AW HI3 A BR Cfadhd T heH
3. YT BT BR TR ToBh

4, YA HHE BR T T

Options :

68634042501. 1
68634042502. 2
68634042503. 3
68634042504. 4

Question Number : 27 Question Id : 68634010766 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
"Project Method' 1s endorsed by:
1. Naturalism
2. Idealism
3. Empiricism

4. Pragmatism

Options :
68634042505. 1



68634042506. 2
68634042507. 3
68634042508. 4

Question Number : 27 Question Id : 68634010766 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Urolge fafer &1 S 3 9gldar g2

1. Upiddg
B IR
3. YT
4. YgISHaE

Options :

68634042505. 1
68634042506. 2
68634042507. 3
68634042508. 4

[

Question Number : 28 Question Id : 68634010767 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following cannot be associated with Gandhs :

A. My experiments with truth
B. Hind Swaraj

C. Discovery of India

D. Nai Talim

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and D only
3. C only
4. D only

Options :

686340425009. 1

68634042510. 2

68634042511. 3
68634042512. 4

Question Number : 28 Question Id : 68634010767 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

g1 & B il ol A efd 18T 7

A 0 & 91Y T FGAT
B. g Ww

C. YRd UF Gl

D. 75 dIeiH

1= fau e fdm el & 9 968 9ugad IR DI 90 B

1. $ad A 3R B
2. %4d B 3R D
3.%dd C
4.%dd D

Options :

68634042509. 1

68634042510. 2

68634042511. 3
68634042512. 4

Question Number : 29 Question Id : 68634010768 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"Man 1s born free but everywhere he is in chains'-is a statement by.

1. Abraham Lincoln
2. Rouessau
3. Paulo Freire
4. JTohn Dewey

Options :

68634042513. 1

68634042514. 2

68634042515. 3
68634042516. 4

Question Number : 29 Question Id : 68634010768 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UE [HHP] HYA - T &1 O WA 51 § TR 81 3R 98 afsyl I oasI g3 g
1. 3fsiTeH fefep
34l
O3l T
4. 51 St
Options :
68634042513. 1
68634042514.2

68634042515. 3
68634042516. 4

| )

[FN]

Question Number : 30 Question Id : 68634010769 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the Gestalt Principles of Perception as per their patterns of seeing.
A. Figure-ground
B. Proximity
C. Similarity
D. Closure

Choose the correct answer trom the options given below:
1.D,C; B,A
2.AB.C.D
33JACB.D
4.B.C.A.D

Options :

68634042517. 1
68634042518.2
68634042519. 3
68634042520. 4

Question Number : 30 Question Id : 68634010769 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRETee & YLD & (gH] B 3% od & & HH gt
A. STPIA- JBYH
B. Fdbed

C. FHAT
D. A

=i fqu e faeedl # 9 9ed Sugad SR Bl 99 DI

1.D.C.B.A

[ )

AB.C. D
3JAC.B.D
4 B.C.A.D

Options :

68634042517. 1
68634042518. 2
68634042519. 3
68634042520. 4

Question Number : 31 Question Id : 68634010770 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Dr. Zakir Hussian was associated with:

1. Jamia Millia Islamia
2. Banaras Hindu University
3. Kashi Vidyapith
4, Usmania University

Options :

68634042521. 1

68634042522. 2

68634042523. 3
68634042524. 4

Question Number : 31 Question Id : 68634010770 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST, SR g4 oy @5 a1y aiferd o
1. STfer fEfeema St

 SRY g fayfaamm

e fgerdie

g fayfaemer

| )

L
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Options :

68634042521. 1
68634042522, 2
68634042523. 3
68634042524. 4

Question Number : 32 Question Id : 68634010771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

'Amar Sonar Bangla'-the national anthem of Bangladesh is written by.

1. Muyjib-ur-Rehman

2. Naziul-Islam

L]

. Rabindranath Tagore
4. Sharatchandra Chatterji
Options :
68634042525. 1
68634042526. 2

68634042527. 3
68634042528. 4

Question Number : 32 Question Id : 68634010771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'SR R a1 SHeTG R &1 0 M4 foe foran
1. oligiga™
2. TSI
3. gAY SR
4, SRS gt

Options :



68634042525. 1
68634042526. 2
68634042527. 3
68634042528. 4

Question Number : 33 Question Id : 68634010772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Learning outcomes are measurable.

Reason R: Whatever cannot be measured must not be a learning outcome.

In the light of the above statements. choose the correct answer trom the options given below:
1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. A s true but R 1s false

4. A is false but R 1s true

Options :

68634042529. 1
68634042530. 2
68634042531. 3
68634042532. 4

Question Number : 33 Question Id : 68634010772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-9 3 U AU T §: U@ SHIUPHUT (Assertion A) & $9 1 [0REd & O THRT 39D HRUT (Reason R) & T
af

HfUDHYT A AR Ufiima T ST aSA B
BRI R: Ol e I A1 781 ol Fbal i wiawd el 61 gobdl|
SRl HY & 3Tl H, i fGu 7Ty fasedl § 9 a8 ugad 3R &l 99 DIy

1. AR REH GO E IR R AT TE TR ©

2. ASRREH T 8 3R R AT T aarem =81 §

3. A9 s OfpR 3T R

4. AT g APIRIT®

Options :

68634042529. 1
68634042530. 2
68634042531. 3
68634042532. 4

Question Number : 34 Question Id : 68634010773 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following method's are used Prominently in science teaching?

A. Lecture method

B. Story telling method

C. Case study method

D. Heuristic method

E. Problem solving method

Choose the most appropriate answer from the options given below:
1. A. B only
2.B.C only
3. A. Conly
4.D. E only
Options :

68634042533. 1
68634042534. 2



68634042535.3
68634042536. 4

Question Number : 34 Question Id : 68634010773 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S99 @ 1 I fafer fagm e & forg v U 3 waiv &1 oirl 82

A, UFR fafy
B. ®eHI G Pl fafd
Cc. Hg el fafy

D. §gRIEs fafa

E. JrE1 g1 fafy
1= fau e fde el & 9 968 9ugad IR DI 99 B

1. Pad A. B
2.%ad B. C
3.%0d A.C
4.%0d D.E

Options :

68634042533. 1
68634042534. 2
68634042535.3
68634042536. 4

Question Number : 35 Question Id : 68634010774 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Trial and Error method proposed by.

1. Jean Piaget

[

. Leo Vygotsky

L]

.E. L. Thorndike

4. Albert Bandura

Options :

68634042537. 1
68634042538. 2
68634042539. 3
68634042540. 4



Question Number : 35 Question Id : 68634010774 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TN SR ot fafey o < o
1. S s
ferat argTieEt
5. 70 USRS
3feae g5

[

L]

=Y

Options :

68634042537. 1
68634042538. 2
68634042539. 3
68634042540. 4

Question Number : 36 Question Id : 68634010775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

'Sa Vidya ya ', The Education is the one that

1. Jagritaye (Awakens)

| )

. Mokshaye (Salvation)

%]

. Vimuktaye (Liberates)

=

. Jnanaye (Knowledgeable)

Options :

68634042541. 1
68634042542. 2
68634042543. 3
68634042544, 4

Question Number : 36 Question Id : 68634010775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oifgemar o fegeggw
1. ST (STl §)
2. Ted: (e UaH Rt )
3. format: (qfe wer PRl ©)
4. JA: (I W Bl 8)

Options :

68634042541. 1
68634042542. 2
68634042543. 3
68634042544. 4

Question Number : 37 Question Id : 68634010776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Children who grow up in homes filled with harsh punishment and family violence are more
likely to use aggression.

Statement IT: Aggression should not be confused with assertiveness. which means affirming a legitimate
right.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement [ i3 incorrect but Statement II 1s correct

Options :

68634042545. 1
68634042546. 2
68634042547. 3
68634042548. 4

Question Number : 37 Question Id : 68634010776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CIEKARAIE RS

UYL I T Ol 3T IR 1 §9 BId © 9Ie] PoR o8 AR Tiaie fear w{i g1, 399 gRI a1
SR AU a1 STl & |

S 11 HHHEGA B Hyarddmal ¥ Yiid 78 &1 Tifen, Fyaersa &1 o et aifere 53 & foo
Fyayd® ¢ BBl

SRIGd YA & AP 5, A [SU U [dbed] § I ol 30 B 994 DI

1. BYT 1 AR IS 9 &
2. HYF 1 AR EHT T &
3. BYTI 9D B, AfbT HYT I ST &

4. PYTI HFI L. AfPT P I T B

Options :

68634042545. 1
68634042546. 2
68634042547. 3
68634042548. 4

Question Number : 38 Question Id : 68634010777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
A | Shiksha aur Gyvan I | Anil Sadgopal
B. [Shiksha aur Janandolan II. | Krishna Kumar
g [ishememBadatav bl o oy
Sawal
D. | Pangu Mastishk IV. | Susant Guntilak

Choose the correct answer from the options given below:
1. A-IT B-IIT C-I D-IV
2. A-1 B-II C-III D-IV
3. A-II B-IV C-I D-ITI
4. A-IV B-III C-II D-I

Options :
68634042549. 1



68634042550. 2
68634042551. 3
68634042552. 4

Question Number : 38 Question Id : 68634010777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 9=t 11 9 e Sifey

Hel 1 T I
A [TTET 3R 9 N EEEERIEIN
B. [[18M 3R Si3fiaied | IL [ $aR
C. [F1& & 95ad &1 Garo)| 1L [TreET T
D. [d71 A& IV. [g211d ordaa|
fafaiad fowedl & T U8l SR &1 99 Difog -

1. A-IT B-III C-I D-IV

|

AT B-IT C-IIT D-IV
3. A-IT B-IV C-I D-III
4. A-IV B-III C-II D-I

Options :

68634042549. 1

68634042550. 2

68634042551. 3
68634042552. 4

Question Number : 39 Question Id : 68634010778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The school of Gestalt Psychologists is known as:

1. Asian School of Psychology

[

. German School of Psychology
3. Indian School of Psychology
4. Russian School of Psychology

Options :

68634042553. 1
68634042554. 2
68634042555. 3
68634042556. 4



Question Number : 39 Question Id : 68634010778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TReTee TS SUar S Sl 3:
QRS TR Hved

 URA FAIGTH 9™

=4 A dveE

Options :

68634042553. 1
68634042554. 2
68634042555. 3
68634042556. 4

—
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Question Number : 40 Question Id : 68634010779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Delor's commission appointed by UNESCO recommends to base education on four pillars : Learning to know:,
Learning to do. Learning to be. the fourth pillar 1s :

1. Learning to live happy
2. Learning to die happily
3. Learning to live together
4. Learning to survive

Options :

68634042557. 1

68634042558. 2

68634042559. 3
68634042560. 4

Question Number : 40 Question Id : 68634010779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042557. 1
68634042558. 2
68634042559. 3
68634042560. 4

Question Number : 41 Question Id : 68634010780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Social mobility is the crucial force for the social change.

Statement IT: For the national integration. social mobility is the only required thing.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect

4. Statement [ is incorrect but Statement II is correct

Options :

68634042561. 1
68634042562. 2
68634042563. 3
68634042564. 4

Question Number : 41 Question Id : 68634010780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S A AICAEANE

HY 1 JrToIE TMio=iiar, Jreifeie gRad= o 3igd 9 g

B 11: AP Tehdl & Y FHToD IRGd B 6l e o sldl & |
SWRIdd DY & 3falle H, i 3T 7 fadsedi § 4 981 IR &1 98 P

1. PUTI RIS TS
2 BUTT AR ST AT

3. PYT I e, AfeT Py I IET

4. PYTI T B, AT YT I T ©

Options :

68634042561. 1
68634042562. 2
68634042563. 3
68634042564. 4

Question Number : 42 Question Id : 68634010781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following phases of Psychosexual development in ascending age order.

A Anal

B. Genital
C. Latency
D. Oral

E. Phallic

Choose the correct answer from the options given below:

1.D.B,C.E. A
2.AB.C.ED
3DAECEB
4B D CrE A

Options :

68634042565. 1

68634042566. 2

68634042567. 3
68634042568. 4



Question Number : 42 Question Id : 68634010781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o g & g val &1 &9 1 Iemsul
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B. SHH®
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1.D.B.C.E.A
2.A. BB D
3D AECSE
4.B.D,C.E.A
Options :
68634042565. 1
68634042566. 2

68634042567. 3
68634042568. 4

Question Number : 43 Question Id : 68634010782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Psycho-Analytical Theory of Personality is given by.

1. Leo Vygotsky

[

. Jean Piaget
3. Abraham Maslow
4. Sigmund Freud

Options :

68634042569. 1
68634042570. 2
68634042571. 3
68634042572. 4

Question Number : 43 Question Id : 68634010782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634042569. 1
68634042570. 2

68634042571. 3
68634042572. 4
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Question Number : 44 Question Id : 68634010783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

National Literacy Mission was started in.

1. 1966

b2

. 1976
3. 1986
4, 1956

Options :

68634042573. 1
68634042574. 2
68634042575. 3
68634042576. 4

Question Number : 44 Question Id : 68634010783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P AR e 1 o a1d $a g Ul

1. 1966

|

. 1976
3. 1986
4. 1956

Options :
68634042573. 1



68634042574. 2
68634042575. 3
68634042576. 4

Question Number : 45 Question Id : 68634010784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the important events as per their occurence.

A. Peer relationship
B. Mentoring

C. Schooling

D. Toilet training
E. Feeding

Choose the correct answer from the options given below:
1LABCBDE
2B.CAED
JC.BADE
4. E.D C.A B

Options :

68634042577. 1
68634042578. 2
68634042579. 3
68634042580. 4

Question Number : 45 Question Id : 68634010784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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=B ACE. D
3.C.BASDE
4. E.D.C.A.B

Options :

68634042577. 1
68634042578. 2
68634042579. 3
68634042580. 4

Question Number : 46 Question Id : 68634010785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statement:

Statement I: Sign language does not have voice.

Statement IT: Sign language having its own grammar and vocabulary.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both Statement I and Statement II are correct

[ ]

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement IT 1s correct

Options :

68634042581. 1
68634042582. 2
68634042583. 3
68634042584. 4

Question Number : 46 Question Id : 68634010785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042581. 1
68634042582. 2
68634042583. 3
68634042584. 4

Question Number : 47 Question Id : 68634010786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who said- "school is the mimiature of a society."

1. White head

[ )

. J. 1. Rousseau
3. John Dewey
4. Paulo Freire

Options :

68634042585. 1
68634042586. 2
68634042587. 3
68634042588. 4

Question Number : 47 Question Id : 68634010786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634042585. 1
68634042586. 2

68634042587. 3
68634042588. 4
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Question Number : 48 Question Id : 68634010787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The learner personally monitors his’her own learning. assimilates the required changes accommodates and
adapts to new changes. This is known as.

1. Assessment of Learning

| )

. Assessment as Learning
3. Assessment for Learning
4. Assessment by Learning

Options :

68634042589. 1
68634042590. 2
68634042591. 3
68634042592. 4

Question Number : 48 Question Id : 68634010787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042589. 1
68634042590. 2
68634042591. 3
68634042592. 4

Question Number : 49 Question Id : 68634010788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: Naturalism as school of thought talks about human and nature relationship and its interaction.
Reason R: Human being can be nurtured only in nature.
In the light of the above statements. choose the most appropriare answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. A is correct but R is not correct
4. A 18 not correct but R is correct
Options :
68634042593. 1
68634042594. 2

68634042595. 3
68634042596. 4

Question Number : 49 Question Id : 68634010788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042593. 1
68634042594, 2
68634042595. 3
68634042596. 4

Question Number : 50 Question Id : 68634010789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

According to J.F. Herbart.

1. Teaching is Aut.

[

. Teaching 1s Science.
3. Teaching 1s Value.
4. Teaching is Logic.

Options :

68634042597. 1
68634042598. 2
68634042599. 3
68634042600. 4

Question Number : 50 Question Id : 68634010789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042597. 1
68634042598. 2
68634042599. 3
68634042600. 4
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Question Number : 51 Question Id : 68634010790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The University Education Commission-1948 was headed by:

1. L. Mudadiar

[ )

. Dr. 5. Radhakrishnan
3. D. S. Kothari
4. 1. P. Naik

Options :

68634042601. 1

68634042602. 2

68634042603. 3
68634042604. 4

Question Number : 51 Question Id : 68634010790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fasyfaemera fRIam SMaIM-1048 DT feded e i 2|
1. Uel. HafermrR
2. T, UG
3. 31 0. BIBRI

4. 9. 4t A1

Options :
68634042601. 1



68634042602. 2
68634042603. 3
68634042604. 4

Question Number : 52 Question Id : 68634010791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Self actualization is at the top most level in Maslow's hierarchical structure of needs.
Statement IT: One can attain self-actualization even without satisfying physiological needs.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both Statement I and Statement I are true

| )

. Both Statement I and Statement I are false
3. Statement I is correct but Statement II 1s false
4, Statement [ is incorrect but Statement II is true
Options :
68634042605. 1
68634042606. 2

68634042607. 3
68634042608. 4

Question Number : 52 Question Id : 68634010791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634042605. 1
68634042606. 2
68634042607. 3
68634042608. 4

Question Number : 53 Question Id : 68634010792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following platform are responsible for quality education?

A NAAC

B. EMI5

C. UDISE

D. MOOC

E. SWAYAM

Choose the correct answer from the options given below:

1. A. D only

[ )

.C,D. E only
3.A.B. Conly

4.B. C.E only

Options :

68634042609. 1
68634042610. 2
68634042611. 3
68634042612. 4

Question Number : 53 Question Id : 68634010792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A NAAC
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C. UDISE

D. MOOC

E. SWAYAM

-4 fau T faeedl # 9 96l 39gad SR B 944 SIfw:
1. ®dd A, D
2.%del C,D,E
3.%d0 A B.C
4.%dd B.C.E

Options :

68634042609. 1
68634042610. 2
68634042611. 3
68634042612. 4

Question Number : 54 Question Id : 68634010793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

According to "Learning 1s a process of progressive behaviour adaptation.

1. Construetivist

b2

. Behaviorist
3. Pragmatist
4. Humanist

Options :

68634042613. 1
68634042614. 2
68634042615. 3
68634042616. 4

Question Number : 54 Question Id : 68634010793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& IR "HETH U Aiehar § o k- 2asR &1 sHpad sial g1

IREEIGIC
 TGERATG]
RPUIEEGIG]

4, HFTGATETal
Options :
68634042613. 1
68634042614, 2

68634042615. 3
68634042616. 4

| )

L

Question Number : 55 Question Id : 68634010794 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a stage in psycho-sexual development?

A. Oral

B. Sensori motor
C. Genital

D. Anal

E. Phallic

Choose the correct answer from the options given below:

1. B only

[ )

.C and D only
3. Aand E only
4. E only

Options :

68634042617. 1
68634042618. 2
68634042619. 3
68634042620. 4

Question Number : 55 Question Id : 68634010794 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634042617. 1
68634042618 2

68634042619. 3
68634042620. 4

Question Number : 56 Question Id : 68634010795 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Gestalt Psychologists-

1. are stimulus-response theorists.

| )

. do not separate sensation of an object from its meaning.
3. are conditioning behaviorists.
4. believe in connectionism.

Options :

68634042621. 1
68634042622. 2
68634042623. 3
68634042624. 4

Question Number : 56 Question Id : 68634010795 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634042621. 1
68634042622. 2

68634042623. 3
68634042624. 4
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Question Number : 57 Question Id : 68634010796 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Heuristic method of teaching is also known as:

1. Project method

(3=

. Demonstration method
3. Lecture method
4. Discovery method
Options :
68634042625. 1
68634042626. 2

68634042627. 3
68634042628. 4

Question Number : 57 Question Id : 68634010796 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e 1 sgRfEee fafd 1 iR &9 7 4 o &
1. ioige fafy
vexi fafy
e fafe
4. @ fafg

Options :
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68634042625. 1
68634042626. 2
68634042627. 3
68634042628. 4

Question Number : 58 Question Id : 68634010797 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Sex 1s biological construct whereas Gender 1s a sociologieal construct.

Statement IT: Sex and Gender. both are natural phenomenon.

In the light of the above statements. choose the correct answer from the options given below

1. Statement I is correct but Statement II is true

[ ]

. Statement [ is correct but Statement 1T is false

L¥¥]

. Statement I is correct but Statement II is false

4. Statement I is incorrect but Statement IT 1s true

Options :

68634042629. 1
68634042630. 2
68634042631. 3
68634042632. 4

Question Number : 58 Question Id : 68634010797 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042629. 1
68634042630. 2
68634042631. 3
68634042632. 4

Question Number : 59 Question Id : 68634010798 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Every intellectual activity involves a general factor 'g' which is shared with all the intellectual activities and a
specific factor 's" which it shares with none. The above theory was propounded by-

1. Thurston

| )

. Guilford
3. Gardner
4. Spearman

Options :

68634042633. 1
68634042634.2
68634042635. 3
68634042636. 4

Question Number : 59 Question Id : 68634010798 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634042633. 1
68634042634 2

68634042635. 3
68634042636. 4

| )
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Question Number : 60 Question Id : 68634010799 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which 1s not the part of a Lesson Planning?
1. Objectives
2. Learning activity
3. Recapitulation
4. School management
Options :
68634042637. 1
68634042638. 2

68634042639. 3
68634042640. 4

Question Number : 60 Question Id : 68634010799 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042637. 1
68634042638. 2
68634042639. 3
68634042640. 4

Question Number : 61 Question Id : 68634010800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Psycho Analytical Theory 1. | Maslow
Factor Theorv of Personality | II. | Allport
Hierarchy of Needs ITI. | Ereud
Trait Theory of Personality | IV. | Cattell

T REE

Choose the correct answer trom the options given below:

1. A-IL. B-III, C-IV, D-I

| ]

AL B-IV. C-1. D-IT
3. A-IL B-I. C-III. D-IV
4. A-IT1. B-1I, C-1. D-IV

Options :

68634042641. 1
68634042642. 2
68634042643. 3
68634042644. 4

Question Number : 61 Question Id : 68634010800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-II. B-III. C-IV. D-I

ofofw]-

| o

CA-IIIL B-IV. C-1. D-II
3. A-IL B-I. C-III. D-IV
4. A-III. B-II. C-I. D-IV

Options :

68634042641. 1

68634042642. 2

68634042643. 3
68634042644. 4

Question Number : 62 Question Id : 68634010801 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

This branch of Philosophy deals with the production, organisation and distribution of knowledge

1. Metaphysics

| B

. Axiology

Lad

. Epistemology
4. Logic

Options :

68634042645. 1
68634042646. 2
68634042647. 3
68634042648. 4

Question Number : 62 Question Id : 68634010801 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



<Y B a8 IR ol I & Hoi, See 3R a9 gefid 8. Seand! -

T
¥
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Options :

68634042645. 1
68634042646. 2
68634042647. 3
68634042648. 4

Question Number : 63 Question Id : 68634010802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The concept of 'Cultural Capital' is given by.

1. C. Aitchison

| )

. Michael Apple

Lad

. Pierre Bourdieu
4. R. JTenkins

Options :

68634042649. 1
68634042650. 2
68634042651. 3
68634042652. 4

Question Number : 63 Question Id : 68634010802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A iae doll &1 Sy e faar g-
1. 91, vefe=a
. HigP e YHd
TR ERS
4, 3R Wi-p=g

Options :
68634042649. 1

| )

L]



68634042650. 2
68634042651. 3
68634042652. 4

Question Number : 64 Question Id : 68634010803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
Nomuinal Scale] [ |Ranking of Data
Eatio Scale II. | Equal Units of Measurement

Interval Scale | III. | Scale with true zero
Ordinal Scale | IV. | Counted data

REE

Choose the correct answer from the options given below:

1. A-III, B-1. C-IV. D-II

| )

CA-IV, B-IIIL C-I1, D-I
3. A-IV. B-1, C-III. D-II
4, A-II, B-1IL. C-1. D-IV

Options :

68634042653. 1
68634042654. 2
68634042655. 3
68634042656. 4

Question Number : 64 Question Id : 68634010803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 Yl 1 ¥ fieH sifore

T I T I
T gEEr | L [Ser @l dd

T O 1L (510 &1 99H garal
SH=dd UHMFT | 111 [aRdfde 3 Tigd UaH]
oiad UaET | IV [Tl T g get
frafeed fasedl & 9 981 9Tk &1 99 Siful :

1. A-III, B-1. C-IV. D-11

REE

|

CA-IV, B-IIIL. C-I1. D-I

3. A-IV. B-1, C-III. D-II

4. A-IL B-I1II. C-1. D-IV



Options :

68634042653. 1
68634042654. 2
68634042655. 3
68634042656. 4

Question Number : 65 Question Id : 68634010804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in historical chronology:.

A, Plato

B. Locke

C. Dewey
D. Roussean
E. Anstotle

Choose the correct answer trom the options given below:
LAEBDE
2B ANB.C
3.B,D.E.A.C
4. C.E.D,B;A

Options :

68634042657. 1
68634042658. 2
68634042659. 3
68634042660. 4

Question Number : 65 Question Id : 68634010804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafad &1 Ufaeiie Ses & gust

A e
B.dld
c.odl
D. ¥l

E. 3R]
- feu T fd@edl # 9 969 S9gad SR DI 944 ST

1.AE, B, DE

L

EADB.C
3B.LDEAC
4. C.E.D.B.A

Options :

68634042657. 1
68634042658. 2
68634042659. 3
68634042660. 4

Question Number : 66 Question Id : 68634010805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Type-cum-trait approach synthesizes type and trait approaches. The prominent theorist 1s.
1. R. B. Cattell
2. Freud
3. Eyesenck

4. Allport

Options :

68634042661. 1
68634042662. 2
68634042663. 3
68634042664. 4

Question Number : 66 Question Id : 68634010805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042661. 1
68634042662. 2
68634042663. 3
68634042664. 4

| )

L

Question Number : 67 Question Id : 68634010806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Autistic Spectrum disorders (AUTISM) co-occurs with

1. Social disorder

b2

. Language disorder
3. Physical disorder
4. Cultural disorder

Options :

68634042665. 1

68634042666. 2

68634042667. 3
68634042668. 4

Question Number : 67 Question Id : 68634010806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hfefes Wagd [dbR (sfew) fod & T g1
1. TSP fdPR
2. H1YT fabR
3. RN fdPR
4. Giepfds [dPR

Options :
68634042665. 1



68634042666. 2
68634042667. 3
68634042668. 4

Question Number : 68 Question Id : 68634010807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The anatomy of our personality is built around the three unified and inter-relating System- Id.
Ego and Super Ego.

Statement IT: The above was propounded by Sigmund Freud.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect

4. Statement I 15 incorrect but Statement I is correct

Options :

68634042669. 1
68634042670. 2
68634042671. 3
68634042672. 4

Question Number : 68 Question Id : 68634010807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. PYT T 5. AfpT YT 1 9 ©

Options :

68634042669. 1
68634042670. 2
68634042671. 3
68634042672. 4

Question Number : 69 Question Id : 68634010808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Operant Behavior 1s

1. Elicited by known stimuli

| B

. Emitted by unknown stimuli
3. Not related to stimuli
4. Response to stimuli

Options :

68634042673. 1
68634042674. 2
68634042675. 3
68634042676. 4

Question Number : 69 Question Id : 68634010808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042673. 1
68634042674. 2
68634042675. 3
68634042676. 4

Question Number : 70 Question Id : 68634010809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The first Psychological laboratory at Leipzig was established by.

1. Jean Piaget

| )

.E. L. Thorndike
3. B.F. Skinner

4, Wilhelm Wundt

Options :

68634042677. 1
68634042678. 2
68634042679. 3
68634042680. 4

Question Number : 70 Question Id : 68634010809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e Ry wus w-ifg warTemer foa- wifud ®l-
1. Si foarst
2.3. Td. UHSTE®
3.9 U, R
4, fafega g

Options :



68634042677. 1
68634042678. 2
68634042679. 3
68634042680. 4

Question Number : 71 Question Id : 68634010810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Gandhi opposed untouchability as a sin agamnst humanity.
Reason R: Gandhi wrote 'Annihilation of caste'.
In the light of the above statements. choose the correct answer trom the options given below:

1. Both A and R are true and R 1s the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A

3. Ais true but R is false

4. A is false but R is true

Options :

68634042681. 1
68634042682. 2
68634042683. 3
68634042684. 4

Question Number : 71 Question Id : 68634010810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042681. 1
68634042682. 2
68634042683. 3
68634042684. 4

Question Number : 72 Question Id : 68634010811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

MOOC stands for

1. Massive Open Online Course

(B

. Maximum Opportunity Operation Case

3. Minimum Observation Overt Case

e

. Major Office Operation Course

Options :

68634042685. 1
68634042686. 2
68634042687. 3
68634042688. 4

Question Number : 72 Question Id : 68634010811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042685. 1
68634042686. 2
68634042687. 3
68634042688. 4

a—y
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L

Question Number : 73 Question Id : 68634010812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

According to "Intelligence 1s the capacity to think well. to judge well and to be self-critical”

1. Spearman

b2

. Terman
3. Binet

4, Thurstone

Options :

68634042689. 1
68634042690. 2
68634042691. 3
68634042692. 4

Question Number : 73 Question Id : 68634010812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 & TUR " GfGH ol aRid I JiF- B 4Tl 6. Hol by - adl Wd-THle® gH o
HdIBI"

1. TiREe

:

%

4. e

Options :



68634042689. 1
68634042690. 2
68634042691. 3
68634042692. 4

Question Number : 74 Question Id : 68634010813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
A | Metaphysics 1. | Value and Ethics
B. | Axiology IT. | Validity of Argument
C. | Epistemology | II1. | Nature of Knowledge
D. |Logic IV | Substance and Eeality

Choose the correct answer from the options given below:

1. A-I. B-II, C-III. D-IV

| ]

. A-L B-III, C-IT. D-IV
3. A-IL B-III. C-IV. D-I
4. A-IV. B-1. C-I1I, D-IT

Options :

68634042693. 1
68634042694. 2
68634042695. 3
68634042696. 4

Question Number : 74 Question Id : 68634010813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-II. C-III. D-IV

Ofa|w]=

| o

. A-I B-III. C-II. D-IV
3. A-IL B-III., C-IV. D-1
4, A-IV, B-1. C-III. D-II

Options :

68634042693. 1

68634042694. 2

68634042695. 3
68634042696. 4

Question Number : 75 Question Id : 68634010814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Operation Blackboard was launched on the recommendations of

1. Kothari Commission

| B

. Chattopadhyay Commission
3. NEP-1986
4. NEP-2020

Options :

68634042697. 1
68634042698. 2
68634042699. 3
68634042700. 4

Question Number : 75 Question Id : 68634010814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. NEP-1986

| )

4, NEP-2020

Options :

68634042697. 1
68634042698. 2
68634042699. 3
68634042700. 4

Question Number : 76 Question Id : 68634010815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which 1s not the example of Projective technique of personality assessment?

1. Dream Analysis

. Story telling

| )

3. Free Association
4, Observation

Options :

68634042701. 1
68634042702. 2
68634042703. 3
68634042704. 4

Question Number : 76 Question Id : 68634010815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

578 O $F igad & AT &1 UAUTg dH-1 &1 32180 Tal ¢
1. WY fq=eiwor

PR G

. Had Hay

2

4. HIlIPA

| ]

L]

Options :
68634042701. 1



68634042702. 2
68634042703. 3
68634042704. 4

Question Number : 77 Question Id : 68634010816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
Vishwa Bharat I | 5ir Syed Ahmed Khan
Aligarh Muslim University] 11 | Zakir Hussain
Jamia Millia Islamia III. | Rabindra Nath Tagore
Banaras Hindu University | IV. | Madan Mohan Malviva

REE

Choose the correct answer from the options given below:

1. A-II. B-I, C-III. D-IV

| )

A-L B-III, C-IV. D-II
3. A-IV. B-I1. C-I, D-III
4, A-I11, B-1. C-II. D-IV

Options :

68634042705. 1
68634042706. 2
68634042707. 3
68634042708. 4

Question Number : 77 Question Id : 68634010816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oy
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1. A-TI. B-I. C-1II. D-IV
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|

AL B-IIIL C-IV. D-II

3. A-IV. B-I1, C-I, D-III

4. A-III, B-1, C-II. D-IV



Options :

68634042705. 1
68634042706. 2
68634042707. 3
68634042708. 4

Question Number : 78 Question Id : 68634010817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The resolution for free and compulsory education in Imperial legislative Council was brought by n
the year

1. Sir Syed Ahmed Khan, 1905
2. Gopal Krishna Gokhale. 1911
3. Annie Besant. 1917
4. M. K. Gandhi, 1937

Options :

68634042709. 1

68634042710. 2

68634042711. 3
68634042712. 4

Question Number : 78 Question Id : 68634010817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U T f-ar] e o1 uxdrd grdifvad dforaifed sraf-aa 4 GRT T o o
T T

IR YT 37EHE G, 1905
TTOTE T TG, 1911
THade, 1917

U9, @, T, 1937

—

| )
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Options :

68634042709. 1
68634042710. 2
68634042711. 3
68634042712. 4

Question Number : 79 Question Id : 68634010818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which statement 13 not true?

1. Learning 1s motivated by adjustment.

| B

. Learning is a never ending process.
3. Learning 1s a modification of experience.
4. Learning is a natural process.

Options :

68634042713. 1

68634042714. 2

68634042715.3
68634042716. 4

Question Number : 79 Question Id : 68634010818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S8 U B T HYH I ol 6-

1. TR A gRT SHHRd il g |
ST T Sl = I g arell wishan g1
AT U 3Gl BT IS BT
e Ud P fds fdhare,

Options :

68634042713. 1
68634042714.2
68634042715. 3
68634042716. 4

| )

L
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Question Number : 80 Question Id : 68634010819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following stages of Cognitive Development as propounded by Piaget.

A Pre-operational

B. Sensori motor

C. Concrete operational
D. Formal operations

Choose the correct answer from the options given below:
1.D-C-B-A
2A-C-D-B
3. B-D-C-A
4.B-A-C-D

Options :

68634042717. 1
68634042718. 2
68634042719. 3
68634042720. 4

Question Number : 80 Question Id : 68634010819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[

MaTS GIR1 UK it faeTd & 9 siaw1si &l oH § gegu|

i feu U fas el § O 9ad SUgad IR &1 99 DI

LD<EsR=A
2.A-C-D-B
58 -5 - A
4.B-A-C-D

Options :

68634042717. 1

68634042718.2

68634042719. 3
68634042720. 4

Question Number : 81 Question Id : 68634010820 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Initially seven types of Intelligence were identified. later two more were added in this list of Multiple
Intelligence theory. given by

1. Thurstone
2. Lewin

3. Gardner
4. Kohler

Options :

68634042721. 1
68634042722. 2
68634042723. 3
68634042724. 4

Question Number : 81 Question Id : 68634010820 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y31 T I1d YbR &1 §far @1 ugaH &1 715 ol a1¢ 8 &1 3R UoRI & gigur & Rigidl &1 29 gl
o St foar . o gsi- fea

1. e
Qi
TSR
4. PIETR
Options :
68634042721. 1
68634042722.2

68634042723. 3
68634042724. 4

| )
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Question Number : 82 Question Id : 68634010821 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
According to Jean Piaget, 'Schema' 1s -
1. Basic Building block of thinking
2. Basic structure of personality

3. Basic pattern of behavior

4, Basic cultural structure



Options :

68634042725. 1
68634042726. 2
68634042727. 3
68634042728. 4

Question Number : 82 Question Id : 68634010821 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oI st & 3R BT giaT 8

1. 9l & &Hd T H Juch Tus

| )

AR & Hd W=
 AGR BT Jd HH

4. Td ik ]

[#5]

Options :

68634042725. 1
68634042726. 2
68634042727. 3
68634042728. 4

Question Number : 83 Question Id : 68634010822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which were the salient features of the Dr. Zakir Hussain committee in 1937 ?

A. Mother toungue

B. Work Education

C. Three language formula
D. Learning by doing

E. Craft Education

Choose the correct answer from the options given below:

1. A.B. C only
2.A.B.D.E only
3.B.C.D only
4.B.C.A.E only

Options :

68634042729. 1

68634042730. 2

68634042731. 3
68634042732. 4



Question Number : 83 Question Id : 68634010822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1037 H SR g9 9T & g&=0 da@ 1 47

A. T T

B. ®1Y f21&f
c. v gz
D. B & ARG
E. ThIU< 9781

qr fau T fawedt ¥ 96l SR &1 99 S -
1. AU A. B, C
2.%dd A,B,D.E
3.%dd B.C.D
4.%dd B.C.A.E

Options :

68634042729. 1
68634042730. 2
68634042731. 3
68634042732. 4

Question Number : 84 Question Id : 68634010823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The second stage of Cognitive Development according to Jean Piaget is.

1. Pre-operational
2. Formal operational
3. Concrete operational
4. Sensori motor

Options :

68634042733. 1

68634042734. 2

68634042735. 3
68634042736. 4

Question Number : 84 Question Id : 68634010823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sit ToaTel g1 W e faer & gart saeil H 9l &
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S ST MHS g

| )
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Options :

68634042733. 1
68634042734. 2
68634042735. 3
68634042736. 4

Question Number : 85 Question Id : 68634010824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

According to Erik Erison the stage is related with Adolescence 1s -

1. Initiative v/'s Guilt

b2

. Identity v/s Role confusion

5]

. Intimacy v/s Isolation

e

. Generativity v/s Stagnation

Options :

68634042737. 1
68634042738. 2
68634042739. 3
68634042740. 4

Question Number : 85 Question Id : 68634010824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR UREEA & 9R 570 9 &1 91 R0 [BREw1 ¥ Hafia g

1. Ugd S a1y diy

| )

. gedH §4919 UgdH Yifd

. STHTdl g9 S{erTa

[#5]

4. FAGHA §H RRRA

Options :



68634042737. 1
68634042738. 2
68634042739. 3
68634042740. 4

Question Number : 86 Question Id : 68634010825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are Nastik school of Indian philosophy:.

A. Buddhism

B. Nyay Vaisheshik
C. Samkhya yoga
D. Jainism

Choose the correct answer from the options given below:

1. B only

[ ]

. C only
3. B and C only

4. A and D only

Options :

68634042741. 1
68634042742. 2
68634042743. 3
68634042744. 4

Question Number : 86 Question Id : 68634010825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g8 O &F YRAIY 339 & Tifias duem ¥ Hefid 82

A g yd
B. 1T a9t
C. g g
D. O 5
-4 feu T fawetl & 9 969 S9gad TR D1 90 ST
1. Hda B
2. %4d C
3. %dd B3R C

4.%ad A3IRD



Options :

68634042741. 1
68634042742.2
68634042743. 3
68634042744. 4

Question Number : 87 Question Id : 68634010826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Ink blot projective test was developed by.

1. Sigmund Freud

| B

. Jung Carl
3. Eyesenck

4. Herman Rorschach

Options :

68634042745. 1
68634042746. 2
68634042747. 3
68634042748. 4

Question Number : 87 Question Id : 68634010826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el Uedl (S &iic) HeqUl ¢ [y [ Rid fdar U
1. ris was
2. A HIe
3. HETPH
4. TEA I
Options :

68634042745. 1
68634042746. 2
68634042747. 3
68634042748. 4

Question Number : 88 Question Id : 68634010827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What higher order knowledge can make the difference between how well and quickly one's students learn
material?

1. Declarative
2. Rote
3. Meta cognition

4, Procedural

Options :

68634042749. 1
68634042750. 2
68634042751. 3
68634042752. 4

Question Number : 88 Question Id : 68634010827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 3= YUt B ST A9 T 3 I0d B2 IHdl § [ S A Iore=i 9 st aie iR et
i

1. PUTHD / GUHTHD

| ]

SR
4. UihaTeT D

Options :

68634042749. 1
68634042750. 2
68634042751. 3
68634042752. 4

[#5]

Question Number : 89 Question Id : 68634010828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Enrollment of Higher Education in India is low as compared to other developed countries of the
world.

Reason R: India 1s a developmg country.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A

3. A is true but R 1s false

4, A is false but R is true

Options :

68634042753. 1
68634042754. 2
68634042755. 3
68634042756. 4

Question Number : 89 Question Id : 68634010828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-9 3 U AU T §: U@ SHIUPHUT (Assertion A) & $9 1 [0REd & O THRT 39D HRUT (Reason R) & T
af
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SWRIad HY- & 31l H, i Gy Ty fasedl § 9 968 Sugad 3R &l 99 Sifg:

1.AFRREI TG SRR AT Jel TRATE

2. ASRREHI A E 3R R A DI TSl AR 181 B

3. A9 s OfpR 3T R

4.A30Y eAPIRTAR

Options :

68634042753. 1
68634042754.2
68634042755. 3
68634042756. 4

Question Number : 90 Question Id : 68634010829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not amongst Thorndike's three basic Laws of learning.

1. The Law of Effect

| )

. The Law of Exercise

L]

. The Law of Insight
4. The Law of Readiness

Options :

68634042757. 1
68634042758. 2
68634042759. 3
68634042760. 4

Question Number : 90 Question Id : 68634010829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 T 9 B yriss® & gR1 UM st & Fami & o ga Fomi 0 3 =8 5
L. 94T &1 a8
2. 3Ty BT +gH
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4, d3a &1 a8

Options :

68634042757. 1
68634042758. 2
68634042759. 3
68634042760. 4

Question Number : 91 Question Id : 68634010830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: We are born with moral understanding.

Reason R: According to Kohlberg. a child passes through distinctive stages of moral development.

In the light of the above statements. choose the correct answer trom the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A s true but R 1s false

4. A s false but R 1s true

Options :

68634042761. 1
68634042762. 2
68634042763. 3
68634042764. 4

Question Number : 91 Question Id : 68634010830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-9 3 U AU T §: U@ SHIUPHUT (Assertion A) & $9 1 [0REd & O THRT 39D HRUT (Reason R) & T
af

HYBHYT A- 50 9P THA F TU AT S &
HRUR: Dlegddl P AR, TS g=] 10 [0H ™ & [dHal TRl 9 8l B o=l 3
SWRIad HY- & 31l H, i Gy Ty fasedl § 9 968 Sugad 3R &l 99 Sifg:

1.AFRREI TG SRR AT Jel TRATE
2. ARREHI I § 3R R. A DI Gol IS el ©

3.A9Y e AfbR 3T ®

4. AT SUPIRIAT

Options :

68634042761. 1
68634042762. 2
68634042763. 3
68634042764. 4

Question Number : 92 Question Id : 68634010831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Pedagogy of Oppressed [. |John Dewey
Hind Swaraj II. |B. Bernstein

Democracy and Education| ITT. | M. K. Gandhi
Class, code and control IV, | Paulo Freire

EEE

Choose the correct answer from the options given below:

1. A-I. B-II, C-III. D-IV

2. A-IL B-I1I. C-1. D-IV

3. A-IV, B-IIL. C-1. D-II

4. A-IV, B-1I. C-III. D-I



Options :

68634042765. 1
68634042766. 2
68634042767. 3
68634042768. 4

Question Number : 92 Question Id : 68634010831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 ¥ [ Sifor
TqA T T 10

USRSl 1% HuEs| L [§H gdl

fEc W il R

SHIch ! US TodeH | 1L [Here el
[ee. @18 IR @l IV [argal WY

fafarad fawent § T 96l SR &1 997 SO -

1. A-I. B-II. C-III. D-IV

ofafw]>

2. AL B-III. C-1. D-IV

3. A-IV. B-III. C-1. D-II

4. A-IV. B-II. C-III. D-I

Options :

68634042765. 1
68634042766. 2
68634042767. 3
68634042768. 4

Question Number : 93 Question Id : 68634010832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Right to free and compulsory education to all the children of the age 6-14 years" is mentioned in.

1. Article - 46

| ]

. Article -21A

3. Article -16

4. Article -15



Options :

68634042769. 1
68634042770. 2
68634042771. 3
68634042772. 4

Question Number : 93 Question Id : 68634010832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"6-14 HTE D1 31 & T T=di P IR U Har] e o1 ISR I8 H8l T o-
1. AEHTH-46
 3ffEfFTE-21A
3. EHTH-16
4. SAfEFTH-15
Options :
68634042769. 1
68634042770. 2

68634042771. 3
68634042772. 4

| S

Question Number : 94 Question Id : 68634010833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following concepts as per their origin.

A. Common school system
B. Operation Blackboard

C. Basic Education

D. Education without Burden
E. Academic bank of credits

Choose the correct answer from the options given below:

1.LAB,C.D.E

| )

.C,A.B.D.E
3.6, BAE;D
4.B.A.C.D.E

Options :

68634042773. 1
68634042774. 2
68634042775. 3
68634042776. 4



Question Number : 94 Question Id : 68634010833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafeiad vl &1 gd! YRS 814 & oH H Tuizy

A. I el HorTedl

B. HTNYH sidale

c. st e
D.Renfeam®
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1 feu e fam et & 9 999 9ugdd IR P 99 SIT:

1.A;B,;€,D.E

|

.C,AB. DL E
3C,B,ALE.D
4.B.A.C.D.E

Options :

68634042773. 1

68634042774. 2

68634042775. 3
68634042776. 4

Question Number : 95 Question Id : 68634010834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Flander's Interaction Analysis Categories is divided into:

1. Teacher talk - Principal talk

b2

. Teacher talk - Pupils talk

3. Teacher talk - Parents talk

e

. Pupils talk - Parents talk

Options :

68634042777. 1
68634042778.2
68634042779. 3
68634042780. 4

Question Number : 95 Question Id : 68634010834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. T8/ FYA- TUHTEAN S HUA

| )

& BYH- B YA

e/ wyA- Trar-fody sfyyas wua

L
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Options :

68634042777. 1
68634042778. 2
68634042779. 3
68634042780. 4

Question Number : 96 Question Id : 68634010835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A | Buddhism I. | Mahavir Swami
B. | Jainisam II. | Gautam Buddh
C. | 5ikhism 11 | Prophet Muhammad|
D. |Islam IV, | Guru Nanak

Choose the correct answer trom the options given below:

1. A-I. B-II, C-III. D-IV

2. A-IV, B-I1L. C-II. D-I

3. A-IL. B-1. C-IV, D-III

4. A-I. B-II, C-IV, D-III

Options :

68634042781. 1
68634042782.2
68634042783. 3
68634042784. 4

Question Number : 96 Question Id : 68634010835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-II. C-III. D-IV

ofolw>

2. A-IV. B-IIL C-II. D-I

3. A-IL B-1. C-IV., D-III

4. A-1. B-II. C-IV, D-III

Options :

68634042781. 1
68634042782. 2
68634042783. 3
68634042784. 4

Question Number : 97 Question Id : 68634010836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The 'Mid Day Meal Scheme' was launched in the year-

1. 1996

[

. 1905
3.1994
4. 1997

Options :

68634042785. 1
68634042786. 2
68634042787. 3
68634042788. 4

Question Number : 97 Question Id : 68634010836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TEATE HIoH gioHT AR $1 g A

1. 1996

| )

. 1905
3.1994
4, 1997
Options :
68634042785. 1
68634042786. 2

68634042787. 3
68634042788. 4

Question Number : 98 Question Id : 68634010837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Overhead Projector (OHP) 1s used for showing:

1. 5till Pictures

| )

. Moving Pictures
3. Transparencies
4. Videos

Options :

68634042789. 1

68634042790. 2

68634042791. 3
68634042792. 4

Question Number : 98 Question Id : 68634010837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR B8 U&YS (OHP) @M & &1 1dl 6;
1. RR =
2. Iferd o=
3, gigut
4. fofsar

Options :
68634042789. 1



68634042790. 2
68634042791. 3
68634042792. 4

Question Number : 99 Question Id : 68634010838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following as per their order of formation
A, University Grants Commission
B. Central Advisory Board of Education
C. National Council for Teacher Education

D. University of Delhi
E. National Council for Educational Research and Training

Choose the correct answer from the options given below:

1B, AR, &

| )

.A.B.C.D.E
3B, C.DEA
4.C; B, B; DA

Options :

68634042793. 1
68634042794. 2
68634042795. 3
68634042796. 4

Question Number : 99 Question Id : 68634010838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2

.A.B.C.D.E
3B.C.D.E.A
4.C.B.E.D.A

Options :

68634042793. 1
68634042794. 2
68634042795. 3
68634042796. 4

Question Number : 100 Question Id : 68634010839 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason R

Assertion A: NEP-2020. as policy document 1s committed to transform the quality of education in India in
time with constitutional provisions.

Reason R: Quality of education is always determined by the policy vision.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are true and R 1s the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A

3. A is correct but R is not correct

4, A is not correct but R is correct

Options :
68634042797. 1
68634042798. 2



68634042799. 3
68634042800. 4

Question Number : 100 Question Id : 68634010839 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A g BT [GU T &: U HUDYUT (Assertion A) P Y T [AIRAA § dI GIRT 3HP DRI (Reason R) P ¥U
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Options :

68634042797. 1
68634042798. 2
68634042799. 3
68634042800. 4



